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3#48— ! Choosetheright answers. ( 53§44 > 22524 - )

) 1. Which of the following el ements has the highest el ectronegativity?
@C @MYN (¢d (d) O

(

() 2. Rank the following compoundsin order of increasing acidity:
(1) CH3CH,COH (2) CICH,CO,H (3) CI,CHCO,H (4) CICH,CH,CO,H

@@D>@)>E)>@ O @AH>F>2)>1) (©B)>)>@#>1D)
(d) (2> #)>@)>(1)

) 3. Which is the most stable onein the following Newman projections?

. H3C 3 . CHs . CH;
H CHs
EAH EACHE
H3 H H H CH3 H3 H H
H

@A (B (©C (d)D

() 4. What isthe [lUPAC name of the following compound ?
(a) N-cyclopentyl —4—methypentanam@ NHg_CHZCHZCH(CH3)2
(b) cyclopentyl-4-methyl pentantanamid Q/
(c) cyclopentyl-3-methylbutanamide
(d) N-cyclopentyl-3-methylbutanamide



) 5. How many stereocenters are therein the glucose? HOH,C

@3 ()4 (95 ()6 HO%OH
HO

OH
) 6. Which of the following compounds are achiral ?

(@) 1,3-dibromopentane (b) cis-1,4dimethylcyclohexane
(c) 3-methylhex-1-ene (d) 2-methylcyclohexanone

) 7. Which of the following molecules are chiral  ?
H H
/\K\ ﬁ“COOH H
B HO™ OH CHs
H HsC
A B c D E
(@AE (b)BCE (c)BCD (d)CD

) 8. Consider the reaction below to answer the questions.Compound B is the:
(@ Syl product (b) Sy2product (c) E1product (d) E2 product

CHs CHs HsC

| \
HC—C—0 — 22> HC— C—oH 4  C=OH,
ethano
CH, CH, HaC
A B C

) 9.What is the order of decreasing reactivity towards nucleophilic acyl
substitution for the carboxylic acid derivatives?

T 0 i i i
R—C—O0O—C—R R—C—NH, R—C—OR R—C—d
| I I v

@I>1>1>1V O U>1H S>>V © HE>1>1>1V
d) IV>1>11 > |l



() 10. Rank the following substances in order of increasing acidity :

() (ﬁ () ﬁ (ﬁ () ()
CH3COH CH3CCH,COCH, OH CH3CH,OH

@ (Iv) >(I) >m) >(1) (o) (m) >(v) >(I) >(I)
© (o) >(1) > (m) >1v) (d (1) >(m) >(I)>(V)

() 11. Assign E or Z configuration to the following alkenes:

() 0 () HCG ()
o N COOH HsCQ  CH,OH

HO
O

@(I)E (I)Z2 (I)E (b)(I)Zz (II)Z (1)<
@©(I)E (IHE (IME @(1)z (mE (m)Z

() 12.Which of the following stereo-centersis R-configuration ?

() ()H3COH
° S

CHZOH

@I ()OI (o, (dI1,1v

() 13. What isthe maor organic product obtained from the following reaction ?

M o
2. H;0"
HsC OH 7
OH 0
HaC OH HaC OH

O O

OH O
© HSCWOH @ HSCMJ\H




748 - ! Choose the BEST reagent for carrying out each of the following
conversions. ( F4E 54 » £ 104 o )

COCH3 CO,CH3
N g} . Q
COH COH
A. LiAlHy4, ether B. NaBH,, ethanol
C. CrOg, pyridine D. H,/Pd
e [ — <)
A. KMnO,/OH B. m-chloroperoxybenzoic acid/CH,Cl,
C. BI’2/H20 D. MnO,
#48 = ' Givethemgjor organic product(s) for each of the following reactions.

Show all relevant stereochemistry. ( #4264 » £3- 124 - )

C,H
2 KMnOy,
Q) _ >
CH, H;0*

excess H,
2 C=C—C=C—H >
[ Pd/C
H H



PR 194 o

What product would you expect from the acid-catalyzed addition of water to
methylene cyclopentane?

[:>FCH2+EQ — 2

Methylenecyclopentane

WARI C9A -

What product(s) would you expect from bromination of aniline, CsHsNH,?

SRS 8 A o

How could you use the reaction of a Grignard reagent with an ester to prepare
1,1-diphenylpropan-1-ol?
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OH
E:>wCHg+Hg> A, [:><
CH,

HAE 9 A
N Hy
K‘/ ] ﬂ!‘ 3
Aniline o-Bromoaniline  p-Bromoaniline

Rl 8 e |
o ‘ OH

1. Ether solvent

(:: ;."]' 1— fy

1,1-Diphenyipropan-1-ol

1R (£1R)




